
MARKING SCHEME, BSEH Practice Paper 2,10TH
MATHS(Standard) ,March-2024(ENGLISH MEDIUM)

Q.
no.

Expected solutions mar
ks

Section-A

1 (b) ab2 1
2 (c)20 1

3 (b)2
4 (b)32 cm 1

5 (d)0,8 1

6 (a) (-6,7) 1

7 Equilateral 1

8 (a) 300 1

9 two 1

10 false 1

11 9 1
12

sec� =
1 + cot2 θ

cot θ

1

13 (b)600 1

14 (b) 32 cm 1

15 78.57 cm2 1
16 (a)a cone and a cylinder 1

17 (b)24 1

18 (c) 1
3

1

19 (b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not
correct explanation of Assertion(A).

1

20 (d) Assertion(A) is false but Reason(R) is true. 1

SECTION-B
21 Here a1=2,b1=3,c1=−5

a2=k,b2=−6,c2=−8
.............................................................................................................

For unique solution;
�1
�2

≠ �1
�2

1/2

1/2
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...............................................................................................................

here,
�1
�2

= 2
�

,
�1
�2

=
3

−6
=

1

−2

⇒
2
� ≠ −1

2
..................................................................................................................

⇒ � ≠− 4

1/2

1/2

OR
21

Given equations can be written as:
�
2

+
2�
3

=− 1
⇒ 3� + 4� =− 6..........(i)

� −
�
3

= 3
⇒ 3� − � = 9............(ii)
...................................................................................................................
Equation(i) – Equation(ii) ⇒ (3� + 4�) −( 3� − �) =− 6 − 9

.................................................................................................................
⇒ 5y=-15 ⇒ � =− 3

......................................................................................................................
Substituting the value of y in equation(i)
we get 3x+4(-3)=-6 ⇒ 3x=-6+12

⇒ � = 6
3

= 2

1/2

1/2

1/2

1/2

22. We know that the diagonals of a parallelogram bisect each other.
So, coordinates of the mid-point of diagonal AC are same as the
coordinates of the mid-point of diagonal BD.

.................................................................................................................
Since, the midpoint of the line segment joining the two points (x1,y1)and

(x2,y2) is ( x1+x2
2

, y1+y2
2

)

∴ (6+9
2

, 1+4
2

) = ( 8+�
2

, 2+3
2

)
..........................................................................................................
⇒(15

2
, 5
2

) = 8+�
2

, 5
2

⇒ 15
2

= 8+�
2

1/2

1/2

1/2
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..............................................................................................................
⇒ 15 = 8 + � ⇒ � = 7 1/2

23.

......................................................................................................................
In ΔABC and ΔDEF,
∠C=∠E(angular elevation)
∠B=∠F=90∘

∴ΔABC∼ΔDFE (By AAA similarity criterion)

...................................................................................................................

∴
��
��

=
��
��

(If two triangles are similar then their corresponding sides are
proportional.)
∴6

ℎ
= 4

28

..................................................................................................................
⇒h=6×28

4
⇒h=6×7

⇒h=42m

Hence, the height of the tower is 42 m.

1/2

1/2

1/2

1/2

24. tan(A+B)= 3=tan 60°
⇒A+B= 60°--------(i)
.................................................................................................................

tan(A-B)= 1
3
=tan 30°

⇒A-B= 30°--------(ii)

1/2

1/2

Downloaded from cclchapter.com



...................................................................................................................
Solving (i) and (ii), we get
A=450
....................................................................................................................
and

B=150

1/2

1/2

OR
24 cos45°

sec30°+cosec30° =

1
2

2
3
+2

=

......................................................................................................................

1
2

×
3

2 + 2 3
=

.................................................................................................................

3
2 2 3 + 1

×
2 3 − 1

2 3 − 1
=

.....................................................................................................................................

(3− 3 ) 2
2×2×(3−1)

= 3 2 − 6
8

1/2

1/2

1/2

1/2

25.

Radius = 45cm

8 ribs implies angle subtend between consecutive ribs =
360°

8
=45°

.......................................................................................
Area between consecutive ribs =

45
360

× π×(45)2

..................................................................................................................

1/2

1/2
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=
45

360
×

22
7

× 45 × 45 =
22275

28
..............................................................................................................

= 795.22 cm2

1/2

1/2

SECTION-C

26. Consider that √2 + √3 is rational.

Assume √2 + √3 = a , where a is rational.
................................................................................................

So, √2 = a - √ 3

By squaring on both sides,

2 = a2 + 3 - 2a√3
..................................................................................................

√3 = (a2 + 1)/2a, is a contradiction as the RHS is a rational
number while √3 is irrational

Therefore, √2 + √3 is irrational.

1

1

1

27. Since and are the zeros of the quadratic polynomial

..................................................................................................................

1/2
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...........................................................................................................................................
We have

........................................................................................................................................

=

−3
4
7
4

....................................................................................................................

=
−3
4

×
4
7

......................................................................................................................

=
−3
7

The value of is .

1/2

1/2

1/2

1/2

1/2

28. For equation x-y=1,solution table is

x 1 2
y 0 1
On the graph paper,plot the points A(1,0) and B(2,1) to obtain the graph
of x-y=1

...................................................................................................................

For equation 2x+y =8,solution table is
x 0 1
y 8 6

1

1

Downloaded from cclchapter.com



On the graph paper,plot the points C(0,8) and D(1,6) to obtain the graph
of 2x+y=8

..................................................................................................................

Clearly,the graph of two lines intersect at a point(3,2)
∴ x=3,y=2 is the unique solution of the given system of linear equations.

1

OR
28

Let cost of each bat = Rs x
Cost of each ball = Rs y

Given that coach of a cricket team buys 7 bats and 6 balls for Rs 3800.
So that 7x + 6y = 3800

.....................................................................................................................
6y = 3800 – 7x
Divide by 6 we get
y = (3800 – 7x) /6 … (1)

................................................................................................................
Given that she buys 3 bats and 5 balls for Rs 1750.so that
3x + 5y = 1750

.....................................................................................................................

1/2

1/2

1/2
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Plug the value of y
3x + 5 ((3800 – 7x) /6) = 1750
Multiplying by 6 we get
18 x + 19000 – 35 x = 10500
-17x =10500 - 19000

.....................................................................................................................
-17x = -8500
x = - 8500 / - 17
x = 500

...................................................................................................................
Plug this value in equation first we get
y = ( 3800 – 7 × 500) / 6
y = 300/6
y = 50

Hence the cost of each bat = Rs.500 and the cost of each ball is
Rs.50

1/2

1/2

1/2

29. If P(x,y) is equidistant from the points A(3,6) and B(-3,4),
Then AP=BP

....................................................................................................
⇒ (� − 3)2 + (� − 6)2 = (� + 3)2 + (� − 4)2

...............................................................................................

⇒ (� − 3)2 + (� − 6)2= (� + 3)2 + (� − 4)2

...............................................................................................

⇒ x2 -6x +9 +y2-12y+36 = x2 +6x+9 +y2 -8y +16

....................................................................................................

1/2

1/2

1/2

1/2
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⇒ -12x-4y+20=0

...................................................................................................

⇒ 3x+y-5=0 is the required relation.

1/2

1/2

30. LHS= (sin4 θ − cos4 θ + 1) cosec2 θ
=[( sin2 θ − cos2 θ ) sin2 θ + cos2 θ + 1] cosec2 θ

...............................................................................................................
= [( sin2 θ − cos2 θ ) 1 + 1] cosec2 θ

................................................................................................................

=[( sin2 θ − cos2 θ ) + 1] cosec2 θ

.....................................................................................................................
=[sin2 θ − cos2 θ+sin2 θ + cos2 θ] cosec2 θ

..................................................................................................................
=2sin2 � cosec2 θ

..................................................................................................................
=2=RHS

1/2

1/2

1/2

1/2

1/2

1/2

OR
30.

LHS= (sin A + cosec A)2+ (cos A + sec A)2 =

= sin2 � +cosec2 � + 2 ���� ������ + cos2 � + sec2 � + 2���� ����=

.....................................................................................................................
= (sin2 �+ cos2 �) +( cosec2 � )+(sec2 �) + 2 ���� ������ +
2���� ����

......................................................................................................................
= 1+1+cot2 �+ 1+ tan2 � +2 +2=

.......................................................................................................................

1

1/2

1
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= 7+ cot2 � + tan2 � =RHS
1/2

31. Let AB and CD be the two poles of equal height and their heights be h m.
BC be the 80 m wide road. P be any point on the road.

Let CP be x m, therefore BP = (80 – x) .
Also, ∠APB = 60° and ∠DPC = 30°

...................................................................................................................

In right angled triangle DCP,

tan30°= CD
CP

...........................................................................................................
h
x

=
1
3

1/2

1/2

1/2
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⇒ h = x
3
..................(1)

.............................................................................................................

In right angled triangle ABP,
tan60°=AB/AP
.......................................................................................................................

⇒h/(80–x)=√3
⇒h=√3(80–x)
⇒x/√3=√3(80–x)
⇒x=3(80–x)
⇒x=240–3x
⇒x+3x=240
⇒4x=240
⇒x=60

..............................................................................................................

Height of the pole, h=
x
3
=

60
3
= 20 3

Thus, position of the point P is 60 m from C and height of each pole is
20√3 m.

1/2

1/2

1/2

SECTION-D

32. Sn= 4n – n2

S1= 4-1=3=a
S2=8- 4=4

...................................................................................................
an= Sn – Sn-1 =( 4n – n2) – { 4(n-1) –(n-1)2 }=
= 4n – n2 - 4n +4 + n2 -2n +1
an= 5-2n
........................................................................................
⇒ a2= 5 -2(2)=1

1

1

1
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......................................................................................
⇒ a3= 5 -2(3)= -1

........................................................................................
⇒ a10= 5 -2(10)= 5-20= -15

1

1

33. Given:In quadrilateral ABCD,O is the point of intersection AC and BD

such that
AO
BO

=
CO
DO

......................................................................................................................
To Prove: ABCD is a trapezium.

.................................................................................................................

....................................................................................................................
Construction: Draw OE∥AB

..............................................................................................................
Proof:In ∆DAB, OE∥AB
OB
OD

= AE
ED
..............(i) (Basic Proportionality Theorem)

...................................................................................................................
AO
BO

=
CO
DO

(Given)

⇒ OA
OC

= OB
OD

..............(ii)

.................................................................................................................

1/2

1/2

1/2

1/2

1/2

1/2
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From (i) and (ii)
OA
OC

= AE
ED

...............................................................................................................
Now,In ∆ADC, OA

OC
= AE

ED
⇒ OE∥ DC .........(iii) (converse of Basic Proportionality Theorem)
...............................................................................................................
Also OE∥AB ..........(iv)
From (iii) and (iv)
DC∥AB

................................................................................................................
∴ quadrilateral ABCD is a trapezium.

1/2

1/2

1/2

1/2

34.

..................................................................................................................

Height of the cylinder = Height of the cone = h = 2.4 cm

Diameter of the cylinder = diameter of the cone = d = 1.4 cm

Radius of the cylinder = radius of the cone = r = d / 2 = 1.4 / 2 cm = 0.7
cm

..................................................................................................................

1/2

1/2
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Slant height of the cone, l = √[r2+ h2]

l = √[(0.7 cm)2+ (2.4 cm)2]

= √[0.49 cm2 + 5.76 cm2]

= √[6.25 cm2]

= 2.5 cm

...................................................................................................................
TSA of the remaining solid = CSA of the cylindrical part + CSA of
conical part + Area of one cylindrical base

.................................................................................................................

= 2πrh + πrl + πr2

...........................................................................................................

= πr (2h + l + r)

= 22/7 × 0.7 cm × (2 × 2.4 cm + 2.5 cm + 0.7 cm)

...................................................................................................................

= 2.2 cm × 8 cm

= 17.6 cm2

Hence, the total surface area of the remaining solid to the nearest cm2 is
18 cm2.

1

1

1

1/2

1/2

OR
34.

Length of the model = Height of the cylindrical part + 2 × Height of the
conical part
Volume of the cylinder = πr2h₁, where r and h₁ are the radius and height
of the cylinder respectively.

Volume of the cone = 1/3 πr2h₂, where r and h₂ are the radius and height
of the cone respectively.

1/2
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...................................................................................................................

.................................................................................................................
Height of each conical part, h₂ = 2 cm

Height of cylindrical part = Length of the model - 2 × Height of the
conical part

h₁ = 12 cm - 2 × 2 cm = 8 cm

Diameter of the model, d = 3 cm

Radius of cylindrical part = radius of conical part = r = 3/2 cm = 1.5 cm

............................................................................................................

Volume of the model = 2 × Volume of the conical part + Volume of the
cylindrical part

...............................................................................................................

= 2 × 1/3 πr2h₂ + πr2h₁

............................................................................................................

= πr2 (2/3 h₂ + h₁)

= 22/7 × 1.5 cm × 1.5 cm × (2/3 × 2 cm + 8 cm)

1/2

1/2

1

1

1
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................................................................................................................

= 22/7 × 1.5 cm × 1.5 cm × 28/3 cm

= 66 cm3

Thus, the volume of air in the model is 66 cm3.

1/2

35.

class interval class-mark (�i) Number of
children(�i )

����

11-13 12 7 84
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234
19-21 20 f 20f
21-23 22 5 110
23-25 24 4 96

��� =44+f ����� =752+20

.....................................................................................................

Mean = �� =
�����
���

...............................................................................................

⇒ 18 = 752+20�
44+f

...................................................................................................
⇒ 18(44+f) =752+20f

................................................................................................................
⇒ 792 +18f = 752+ 20f

......................................................................................................................

.

1+1

1/2

1/2

1/2

1/2
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⇒792-752 = 20f -18 f

................................................................................................................
⇒40 = 2f

⇒ f = 20
Hence, missing frequency f =20

1/2

1/2

OR
35

From the table, it can be observed that the maximum class frequency is
23, belonging to class interval 35 − 45.

Therefore, Model class = 35 − 45

...................................................................................................................

Class size, h = 10

.................................................................................................................

Lower limit of model class, l = 35

.....................................................................................................................

1/2

1/2

1/2
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Frequency of modal class, f₁ = 23

.................................................................................................................

Frequency of class preceding modal class, f₀ = 21

...........................................................................................................

Frequency of class succeeding the modal class, f₂ = 14

..............................................................................................................

Mode = l + [(f₁ - f₀)/(2f₁ - f₀ - f₂)] × h

................................................................................................................

= 35 + [(23 - 21)/(2 × 23 - 21 - 14)] × 10

..................................................................................................................

= 35 + [2/(46 - 35)] × 10

= 35 + (2/11) × 10

.....................................................................................................................

= 35 + 1.8

= 36.8

So, the modal age is 36.8 years which means the maximum number of
patients admitted to the hospital are of age 36.8 years.

1/2

1/2

1/2

1/2

1/2

1/2

1/2

SECTION -E

36. (i) Let total number of camels be x2
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Then no. of camels seen in forest = x2/4
No. of camels gone to mountain = 2x
No. of camels seen on the bank = 15

..................................................................................................................

Therefore, Total no. of camels,
x2 = x2/4 + 2x + 15
⇒ x2 = (x2 + 8x + 60)/4
⇒ 4x2 = x2 + 8x + 60
⇒ 3x2 - 8x - 60 = 0
.................................................................................................................

⇒ (3x +10)(x - 6) = 0
⇒ (3x +10) = 0 or (x - 6) = 0
⇒ x = -10/3 or x = 6
on squaring,
⇒ x2 = 100/3 or x2 = 36

...................................................................................................................
No. of camels can not be a fraction
Hence x2 = 36

No. of camels = 36

1/2

1/2

1/2

1/2

OR
36.
(i)

Discriminant D= b2 -4ac

Roots of quadratic equation a x2 + b x +c = 0 depend on nature of
Discriminant D

If D= b2 -4ac > 0 then roots are real and distinct.

..................................................................................................

If D= b2 -4ac = 0 then roots are real and equal.

...............................................................................................................

If D= b2 -4ac < 0 then roots are not real.

1/2

1/2

1/2
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........................................................................................................

No. of camels seen on the bank = 15 1/2

(ii) No. of camels gone to mountain = 2(6)=12 1

(iii)
no. of camels seen in forest = x2/4 =36

4
= 9

1

37. (i) ∠��� = 180° − 30° = 150°
(∵ ∠��� = ∠��� = 90°)

1

(ii)∠��� + ∠��� + 150° = 180°
⇒ 2∠��� = 30 ° ⇒ ∠��� = 15°

........................................................................................................
∴ ∠��� = 90° − 15° = 75°

1

1

OR (ii)∠��� = ∠��� = 75° (Angles in the alternate segments)

................................................................................................................

∠���=90°
(∵ �� ⊥ ��)

1

1

(iii) Kite 1

38. (i)Possible outcomes are 4 which are HH,HT,TH,TT 1

(ii)Probability of failure= 1- Probability of successs= 1 - 73
100

= 27
100

=27%

1

(iii) Cases favourable to atleast one head are HT,TH,HH

P(Akriti will start the game)=P(getting atleast one head)=
= P(HH,HT,TH)= �

�

1

1
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OR (iii) Cases favourable to atmost one tail are TT,HT,TH

P(Sukriti will start the game)=P(getting atmost one tail)=
= P(TT,HT,TH)= �

�

1

1
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MARKING SCHEME ,BSEH Practice PAPER 2,10TH MATHS ,March 2024
(हिदंी माध्म)

Q.
no.

Expected solutions marks

Section-A

1 (b) ab2 1
2 (c)20 1

3 (b)2
4 (b)32 cm 1

5 (d)0,8 1

6 (a) (-6,7) 1

7 समबाहु 1

8 (a) 300 1

9 दो 1

10 गलत 1

11 9 1
12 sec� = 1+cot2 θ

cot θ
1

13 (b)600 1

14 (b) 32cm 1
15 78.57 cm2 1
16 (a)एक शंकु और एक बेलन 1

17 (b)24 1

18 (c) 1
3

1

19

(b) अभिकथन (A) और तक् (R) दोनो सही है और तक् (R), अभिकथन(A) की
सही व्ाा्ा नहीं है।

1

20 (d) अभिकथन (A) गलत है, परनतु तक् (R) सही हैI 1

खण् –ख
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21. ्हाँ a1=2,b1=3,c1=−5
a2=k,b2=−6,c2=−8
................................................................................................................

अद्वतत् हल के भलए ;
�1
�2

≠ �1
�2

................................................................................................................

्हाँ,
�1
�2

= 2
�

, �1
�2

=
3

−6
=

1

−2

⇒
2
� ≠ −1

2
.................................................................................................................

⇒ � ≠− 4

1/2

1/2

1/2

1/2

अथ
वा
21

ददए गए समतकरणो को इस पकार भलखा जा सकता है:
�
2

+
2�
3

=− 1
⇒ 3� + 4� =− 6..........(i)

� −
�
3

= 3
⇒ 3� − � = 9............(ii)
.............................................................................................................

समतकरण(i) – समतकरणii) ⇒ (3� + 4�) −( 3� − �) = − 6 − 9

..............................................................................................................
⇒ 5y=-15 ⇒ � =− 3

...................................................................................................................
समतकरण (i)मे yका मान प्ततथा्पत करने पर
हमे पारत होता है : 3x+4(-3)=-6

⇒ 3x=-6+12

⇒ � = 6
3

= 2

1/2

1/2

1/2

1/2

22. हम जानते है कक समांतर चतुिुज् के ्वकण् एक दसूरे को समद्विााजत
करते है।
इसभलए, ्वकण् AC के मध्-बबदंु के ्नद्शांक ्वकण् BD के मध्-बबदंु के
्नद्शांक के समान है।

1/2
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..............................................................................................................
चँूकक, दो बबदंओुं (x1,y1)और (x2,y2)को भमलाने वाले रेखाखंड का मध्बबदंु
( x1+x2

2
, y1+y2

2
) है

∴ (6+9
2

, 1+4
2

) = ( 8+�
2

, 2+3
2

)
.............................................................................................................
⇒(15

2
, 5
2

) = 8+�
2

, 5
2

⇒ 15
2

= 8+�
2

...................................................................................................................

⇒ 15 = 8 + � ⇒ � = 7

1/2

1/2

1/2

23.

.................................................................................................................................................
In ΔABC and ΔDEF,
∠C=∠E(कोणत् उनन्न)
∠B=∠F=90∘

∴ΔABC∼ΔDFE ( AAA समरपता कसौटी दवारा)

..................................................................................................................

∴
��
��

=
��
��

(्दद दो ब्िुज समरप है तो उनकी संगत िुजाएँ समानुपातत होतत है।)
∴6

ℎ
= 4

28

...................................................................................................................
⇒h=6×28

4
⇒h=6×7⇒h=42m

अतः, टावर की ऊंचाई 42 मतटर है।

1/2

1/2

1/2

1/2
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24. tan(A+B)= 3=tan 60°
⇒A+B= 60°--------(i)
.................................................................................................................

tan(A-B)= 1
3
=tan 30°

⇒A-B= 30°--------(ii)
..............................................................................................................
(i)और (ii)को हल करने पर, हमे पारत होता है
A=450

....................................................................................................................

और B=150

1/2

1/2

1/2

1/2

अथ
वा
24

cos45°

sec30°+cosec30° =

1
2

2
3
+2

=

..................................................................................................................................
1
2

×
3

2 + 2 3
=

...................................................................................................................

3
2 2 3+1

× 2 3−1
2 3−1

=

.....................................................................................................................................

(3− 3 ) 2
2×2×(3−1)

= 3 2 − 6
8

1/2

1/2

1/2

1/2

25.

ब्र्ा = 45 सेमत
8 तानो का अथ् है कक दो लगातार तानो के बतच का कोण अंतर = 360°

8
=45° 1/2
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......................................................................................
कमागत तानो के बतच का के्ेल

= 45
360

× π×(45)2

.................................................................................

=
45

360
×

22
7

× 45 × 45 =
22275

28
................................................................................................................

= 795.22 cm2

1/2

1/2

1/2

खण् –ग
26. मान लीाजए कक √2 + √3 पररमे् संा्ा है।

इसभल्े √2 + √3 = a, जहां a पररमे् है।
..............................................................................................................

⇒√2 = a - √ 3

दोनो तरे वग् करने पर

2 = a2 + 3 - 2a√3
...................................................................................................................

√3 = (a2 + 1)/2a, एक ्वरोधािास है क्ोकक RHS एक पररमे् संा्ा है
जबकक LHS, √3 अपररमे् है

अत: √2 + √3 अपररमे् है।

1

1

1
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27.
चँूकक और द्विात बहुपद के शून्क है

इसभल्े α + β =
−�का गणुांक

�2 का गणुांक
= −3

4

........................................................................................................................

�� =
अचर पद

�2 का गणुांक
= 7

4

......................................................................................................................................

हमे पारत होता है
1
α

+ 1
β

= β+α
αβ

.....................................................................................................

=

−3
4
7
4

....................................................................................................................

=
−3
4

×
4
7

......................................................................................................................

=
−3
7

1/2

1/2

1/2

1/2

1/2

1/2

Downloaded from cclchapter.com



28. समतकरण x-y=1 के भलए, हल सारणत है

x 1 2
y 0 1
गार पेपर पर, x-y=1 का गार पारत करने के भलए बबदंु A(1,0)और B(2,1)

को आलेखखत करे |

.................................................................................................................

समतकरण 2x+y =8 के भलए, हल सारणत है:
x 0 1
y 8 6

2x+y=8 का गाे पारत करने के भलए गार पेपर पर बबदंु C(0,8)और
D(1,6) को आलेखखत करे।

................................................................................................................

तपपट रप से, दो रेखाओं का गाे एक बबदंु (3,2) पर प्ततिेद करता है
∴ x=3,y=2 ददए गए रैखखक समतकरण ्नका् का अद्वतत् हल है।

1

1

1
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OR
28. माना कक प््ेक बलले का मूल् =₹ x

प््ेक गेद का मूल् = ₹ y
दद्ा ग्ा है कक एक कककेट टीम का कोच 3800 रप्े मे 7 बलले और 6

गेदे खरीदता है।
⇒ 7x + 6y = 3800
........................................................................................................................

⇒6y = 3800 – 7x
6 से िाग देने पर हमे पारत होता है
y = (3800 – 7x) /6 … (1)

...................................................................................................................
दद्ा ग्ा है कक वह 1750 रप्े मे 3 बलले और 5 गेदे खरीदतत है।
⇒3x + 5y = 1750

.......................................................................................................................

yका मान रखने पर
3x + 5 ((3800 – 7x) /6) = 1750
6 से गुणा करने पर हमे भमलता है
18 x + 19000 – 35 x = 10500
-17x =10500 - 19000

....................................................................................................................
-17x = -8500
x = - 8500 / - 17
x = 500

....................................................................................................................

xका मान समतकरण (1) रखने पर
y = ( 3800 – 7 × 500) / 6
y = 300/6
y = 50
अतः प््ेक बलले की कीमत =₹ 500और प््ेक गेद की कीमत ₹50 है

1/2

1/2

1/2

1/2

1/2

1/2
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29.

्दद P(x,y) बबदंु A(3,6) और B(-3,4) से समदरूतथ है,
⇒AP=BP

...............................................................................................
⇒ (� − 3)2 + (� − 6)2 = (� + 3)2 + (� − 4)2

...............................................................................................

⇒ (� − 3)2 + (� − 6)2= (� + 3)2 + (� − 4)2

...................................................................................................

⇒ x2 -6x +9 +y2-12y+36 = x2 +6x+9 +y2 -8y +16

............................................................................................

⇒ -12x-4y+20=0

..............................................................................................
3x+y-5=0 अितपट संबंध है।

1/2

1/2

1/2

1/2

1/2

1/2

30. LHS= (sin4 θ − cos4 θ + 1) cosec2 θ
=[( sin2 θ − cos2 θ ) sin2 θ + cos2 θ + 1] cosec2 θ

.....................................................................................................
= [( sin2 θ − cos2 θ ) 1 + 1] cosec2 θ

......................................................................................................

=[( sin2 θ − cos2 θ ) + 1] cosec2 θ
......................................................................................................

1/2

1/2

1/2
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=[sin2 θ − cos2 θ+sin2 θ + cos2 θ] cosec2 θ

.....................................................................................................
=2sin2 � cosec2 θ

.....................................................................................................
=2=RHS

1/2

1/2

1/2

अथवा
30

LHS= (sin A + cosec A)2+ (cos A + sec A)2 =
= sin2 � +cosec2 � + 2 ���� ������ + cos2 � + sec2 � +
2���� ����=

........................................................................................................
= (sin2 �+ cos2 �) +( cosec2 �)+(sec2 �) + 2 ���� ������ +
2���� ����

.......................................................................................................

= 1+1+cot2 �+ 1+ tan2 � +2 +2=

..................................................................................................

= 7+ cot2 � + tan2 � =RHS

1

1/2

1

1/2

31. माना ABऔर CD समान ऊंचाई के दो खंिे है और उनकी ऊंचाई
h m है। BC 80 मतटर चौडत सडक हो। P सडक पर कोई ित बबदंु है|

माना CP x m है, इसभलए BP = (80 – x)m है।

साथ ही, ∠APB = 60°और ∠DPC = 30°.
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................................................................................................
समकोण ब्िुज DCP मे,

tan30°= CD
CP

...........................................................................................

h
x =

1
3

⇒ h = x
3
..................(1)

....................................................................................................

,
समकोण ब्िुज ABP मे,
tan60°=AB/AP

.......................................................................................................
⇒h/(80–x)=√3
⇒h=√3(80–x)
⇒x/√3=√3(80–x)
⇒x=3(80–x)
⇒x=240–3x
⇒x+3x=240
⇒4x=240
⇒x=60
.......................................................................................................

1/2

1/2

1/2

1/2

1/2
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खमिे की ऊँचाई, h=
x
3
=

60
3
= 20 3

इस पकार, बबदंु P की ातथ्त C से 60 मतटर है और प््ेक खंिे
की ऊंचाई 20√3 m. है |

1/2

खण्-घ
32. Sn= 4n – n2

S1= 4-1=3=a
S2=8- 4=4
...........................................................................................
an= Sn – Sn-1 =( 4n – n2) – { 4(n-1) –(n-1)2 }=
= 4n – n2 - 4n +4 + n2 -2n +1
an= 5-2n
...........................................................................

⇒ a2= 5 -2(2)=1

........................................................................

⇒ a3= 5 -2(3)= -1

............................................................................

⇒ a10= 5 -2(10)= 5-20= -15

1

1

1

1

1

33. दद्ा ग्ा है: चतुिुज् ABCD मे, O ACऔर BD का प्ततिेद बबदंु
है

इस पकार कक
AO
BO

=
CO
DO

...................................................................................................
1/2
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भसदध करना है: ABCD एक समलंब है।

....................................................................................................

........................................................................................................
रचना: OE∥ABखतंचचए

....................................................................................................
उपपत्: ∆DAB मे, OE∥AB
OB
OD

= AE
ED

..............(i) (आधारिूत आनुपा्तकता पमे्)

........................................................................................................
AO
BO

=
CO
DO

(दद्ा है)

⇒ OA
OC

= OB
OD

..............(ii)

...........................................................................................................
समतकरण(i)और (ii) से, ��

��
= AE

ED

.......................................................................................................
अब, ∆ADC मे, OA

OC
= AE

ED
⇒ OE∥ DC .........(iii) (आधारिूत आनुपा्तकता पमे् का ्वलोम)

............................................................................................................

साथ ही , OE∥AB ..........(iv)

समतकरण(iii)और (iv) से, DC∥AB

1/2

1/2

1/2

1/2

1/2

1/2

1/2

1/2
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.........................................................................................................
∴ चतुिुज् ABCD एक समलंब है।

1/2

34.

.....................................................................................

बेलन की ऊँचाई = शंकु की ऊँचाई = h = 2.4 सेमत

बेलन का व्ास = शंकु का व्ास = d = 1.4 सेमत

बेलन की ब्र्ा = शंकु की ब्र्ा = r = d / 2 = 1.4 / 2

सेमत = 0.7 सेमत
.......................................................................................

शंकु की ्त्क् ऊँचाई, l = �2 + ℎ2

l = √[(0.7 cm)2+ (2.4 cm)2]

= √[0.49 cm2 + 5.76 cm2]

1/2

1/2

1
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= √[6.25 cm2]

= 2.5 cm

......................................................................................
बचे हुए ठोस का कुल पपृठठ् के्ेल = बेलनाकार िाग
का वक पपृठठ् के्ेल + शंकवाकार िाग का वक
पपृठठ् के्ेल + एक बेलनाकार आधार का के्ेल
...................................................................................

= 2πrh + πrl + πr2

....................................................................................

= πr (2h + l + r)

= 22/7 × 0.7 cm × (2 × 2.4 cm + 2.5 cm + 0.7 cm)

.......................................................................................

= 2.2 cm × 8 cm

= 17.6 cm2

अतः, शषे ठोस का ्नकटतम सेमत2 तक कुल सतह
के्ेल 18 सेमत2 है।

1

1

1/2

1/2

अथवा 34. मॉडल की लंबाई = बेलनाकार िाग की ऊँचाई + 2 ×

शंकवाकार िाग की ऊँचाई
बेलन का आ्तन = πr2h₁, जहाँ rऔर h₁ कमशः बेलन
की ब्र्ा और ऊँचाई है।

शंकु का आ्तन = 1/3 πr2h₂, जहाँ rऔर h₂ कमशः शंकु
की ब्र्ा और ऊंचाई है।

...............................................................................

1/2
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.............................................................................
प््ेक शंकवाकार िाग की ऊँचाई, h₂ = 2 सेमत

बेलनाकार िाग की ऊँचाई = मॉडल की लंबाई - 2 ×
शंकवाकार िाग की ऊँचाई
h₁ = 12 cm - 2 × 2 cm = 8 cm

मॉडल का व्ास, d = 3 सेमत

बेलनाकार िाग की ब्र्ा = शंकवाकार िाग की ब्र्ा
= r = 3/2 सेमत = 1.5 सेमत
....................................................................................

मॉडल का आ्तन = 2 × शंकवाकार िाग का आ्तन +
बेलनाकार िाग का आ्तन

....................................................................................
= 2 × 1/3 πr2h₂ + πr2h₁

...............................................................................

= πr2 (2/3 h₂ + h₁)

= 22/7 × 1.5 cm × 1.5 cm × (2/3 × 2 cm + 8 cm)

..........................................................................................

1/2

1/2

1

1

1
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= 22/7 × 1.5 cm × 1.5 cm × 28/3 cm

= 66 cm3

अत: मॉडल मे हवा का आ्तन 66 सेमत3 है।

1/2

35.

वग् अतंराल वग् -चचनह(�i) बतचो की
सां्ा(�i )

����

11-13 12 7 84
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234
19-21 20 f 20f
21-23 22 5 110
23-25 24 4 96

��� =44+f ����� =752+20

..................................................................................................................

माध् = �� =
�����
���

.............................................................................
⇒ 18 = 752+20�

44+f

.........................................................................
⇒ 18(44+f) =752+20f

....................................................................................
⇒ 792 +18f = 752+ 20f

.......................................................................................
⇒792-752 = 20f -18 f

..................................................................................
⇒40 = 2f

1+1

1/2

1/2

1/2

1/2

1/2
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⇒ f = 20
अत: अजात बारंबारता f =20

1/2

OR 35.

आ्ु (वर् मे ) मरीजो की संख्ा

5-15 6
15-25 11
25-35 21
35-45 23
45-55 14
55-65 5

ताभलका से, ्ह देखा जा सकता है कक अचधकतम वग्
बारंबारता 23 है, जो वग् अंतराल 35 - 45 से संबंचधत
है।
∴ बिुलक वग् = 35 − 45

.................................................................................

वग् माप, h = 10

...................................................................................

बहुलक वग् की ्नमन सतमा, l = 35

1/2

1/2

1/2
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......................................................................................

बहुलक वग् की बारमबारता, f₁ = 23

.....................................................................................
बहुलक वग् से ठठक पहले वाले वग् की बारंबारता= f₀ =
21

..............................................................................
बहुलक वग् के ठठक बाद वाले वग् की बारंबारता, f₂ = 14

......................................................................................
बहुलक = l + [(f₁ - f₀)/(2f₁ - f₀ - f₂)] × h

.................................................................................
= 35 + [(23 - 21)/(2 × 23 - 21 - 14)] × 10

.................................................................................

= 35 + [2/(46 - 35)] × 10

= 35 + (2/11) × 10

.....................................................................................

= 35 + 1.8

= 36.8 वष्
∴, मॉडल आ्ु 36.8 वष् है, ाजसका अथ् है कक अतपताल
मे ित् होने वाले रोचग्ो की अचधकतम संा्ा 36.8 वष्

1/2

1/2

1/2

1/2

1/2

1/2

1/2
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की आ्ु के है।

36. (i) माना ऊँटो की कुल संा्ा x2 है

तब जंगल मे देखे गए ऊँटो की संा्ा = x2/4

पहाड पर ग्े ऊँटो की संा्ा = 2x

नदी के ककनारे पर देखे गए ऊँटो की संा्ा = 15

....................................................................................

इसभलए, ऊँटो की कुल संा्ा,
x2 = x2/4 + 2x + 15
⇒ x2 = (x2 + 8x + 60)/4
⇒ 4x2 = x2 + 8x + 60
⇒ 3x2 - 8x - 60 = 0

.................................................................................
⇒ (3x +10)(x - 6) = 0
⇒ (3x +10) = 0 or (x - 6) = 0
⇒ x = -10/3 or x = 6

...................................................................................
वग् करने पर ,
⇒ x2 = 100/3 or x2 = 36
ऊँटो की संा्ा भिनन मे नहीं हो सकतत
इसभलए, ऊँटो की कुल संा्ा,
x2 = 36

1/2

1/2

1/2

1/2

OR (i) द्विात समतकरण a x2 + b x +c = 0 के
मूल ्व्वकतकर D की पकृ्त पर ्निर् करते है
्दद D= b2 -4ac >0 तो मूल वातत्वक और भिनन
है। 1/2
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.................................................. ............................

्दद D= b2 -4ac =0 तो मूल वातत्वक और बराबर
है।

.................................................. ............................

्दद D= b2 -4ac <0 तो मूल वातत्वक नहीं है |
................................................................................

नदी के ककनारे पर देखे गए ऊँटो की संा्ा = 15

1/2

1/2

1/2

(ii) पहाड पर गए ऊँटो की संा्ा = 2(6)=12 1

(iii)
जंगल मे देखे गए ऊँटो की संा्ा = x2/4 =36

4
= 9

1

37. (i)

∠��� = 180° − 30° = 150°

(∵ ∠��� = ∠��� = 90°)

1

(ii) )∠��� + ∠��� + 150° = 180°
⇒ 2∠��� = 30 ° ⇒ ∠��� = 15°

.......................................................................................
∴ ∠��� = 90° − 15° = 75°

1

1

OR (ii) ∠��� = ∠��� = 75° (एकांतर खंडो के कोण) 1
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...........................................................................................................

∠���=90°
(∵ �� ⊥ ��)

1

(iii) पतंग 1

38. (i) संिा्वत पररणाम 4 है जो HH,HT,TH,TT है 1

(ii) ्वेलता की संिावना=1-सेलता की संिावना=1 -
73

100
= 27

100
=27%

1

(iii)कम से कम एक चचतH के पक मे संिा्वत पररणाम =
= HT,TH,HH
..................................................................................
P(आकृ्त खेल शुर करेगत)=P(कम से कम एक चचतH
लाना)=
= P(HH,HT,TH)= �

�

1

1

अथवा (iii)अचधकतम एक पटT के पक मे संिा्वत पररणाम =
= TT,TH,HT
.......................................................................................
P(सुकृ्त खेल शुर करेगत)=P(अचधकतम एक पटT पारत
करना)=
= P(TT,HT,TH)= �

�

1

1
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